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Inequalities with decimal addition or subtraction

Which sign makes the statemenet true ? Complete with <

> or =

20.4 +15.7

361

1 289.001
9272-821
35885

| 1257.45. 4 2._6 o_1;:

- 739+129

101.92 + 0.59

20.62

75018 - 271.86.
130.94 +1.459

3.39 +1.49 |

6.84 - 216

468

0.00001 + 0.0001

0.0001 + 0.0001

163.12

85.66 + 7916

39+0.2

40+ 0]
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Inequalities with decimal addition or subtraction

Which sign makes the statemenet true ? Complete with <

> or =

204 +15.7

361 Ll

1 289.001 S 101.92 + 0.59 |
| 92.72 - 821 < bole2 | | | |
358.85 < 750.18 - 271.86
| 127.48 + 2.001 < 130.94 +1.459
739+ 129 s 3.39+1.49
6.84 - 216 - 468
- II__I _ ...—.._|_ _
0.0001 + 0.0001 S 0.00001 + 0.0001
16312 < 85.66 + 7916
39+02 = 40+ 0]
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